4.5   Percent Problems                               Math 8 Mickelson pages 151-157

This lesson that covers various aspects of percents. 

The Percent Equation

Whenever you are dealing with a percent, you are taking some real portion of a base group and converting it to an equivalent fraction out of 100. That is:


	

For example, when you look at a test result of 65 / 70 and convert it to a percent, what you are doing is figuring out what mark you would have had out of 100 given that you got a part of size 65 out of a base group of 70 questions. 

Of course, this is just an equation with 3 variables (the 100 is fixed, since percent is always a fraction out of 100). You can solve for any missing value so long as you know the other two.

Finding a Percent

The equation can easily be rearranged to solve for a missing percent. This type of question is quite easy to spot: there is no confusion if the question says, “what percent” or “what is the percent”. The trick is identifying the part and the base. Just remember: the base is the ENTIRE GROUP.

Example:	138 people were surveyed. Of these, 51 said that they preferred dogs as their favourite type of pet. 43 people said they like cats best. Everyone else prefers bunnies. What percentage of people said that bunnies are their favourite pet?

The WHOLE GROUP is quite easy to identify: there were a total of 138 people surveyed. The PART is a bit tricky. There are 138 – 51 – 43 = 44 people left who think bunnies are best.


			31.9% of respondents like bunnies best.

Finding a Part

These are questions where you need to figure out a known percent of a known number. Percents are another type of problem where the word “of” is frequently very helpful. Typically the word “of” indicates a base, so when you are given a percent and told it is “of” some known number, that number is generally going to be the base in the percent equation.

Example:	Mr. Mak enjoys 28 and 2/3 % of the movies he watches. If his wife makes him watch 9 movies every year, how many movies will Mr. Mak enjoy after 50 years?

The WHOLE GROUP is the total number of movies Mr. Mak watches. This is 9 per year over 50 years, for a total of (9)(50) = 450 movies. The PERCENTAGE is easily identified because of the % sign.


		Mr. Mak will see 129 movies that he likes.

Finding a Base

These are the most difficult questions. Here, you are told the part and the percent but you need to find the size of the original group. Algebraically this is aggravating because your unknown will appear in the denominator. Obvious phrases are ones like “% of what number” or “find the size of the group” etc.

Example:	Mr. Mak bakes a pile of shortbread cookies. Shortbread is 33 and 1/3% butter. If he used 1.75 kg of butter to bake, how much shortbread does he have?

You are told the PERCENT is 33 1/3%. You are also told how much butter you have, which represents PART of the mass of the shortbread. This leaves you to figure out the TOTAL AMOUNT of shortbread.


		Mr. Mak made 5.25 kg of delicious shortbread.

Assignment: 
1. Read over Math 8 Mickelson pages 151-153. Try the examples. 
1. [bookmark: _GoBack]Complete 4.5 Exercise Set pages 154-157, #1-13.
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